XYZ2,,=100.93, 100.0 , 64.68

2= a [ (x=%,) /3]
bz bylz/y
a0=1, by =-04
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Parameter:

Y & Name
Lichtart P40
Y,,=100 Y\=0
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von maximalem (m)C,g im ~100
Buntwertdiagram (A,, B,)

Lichtart P40, Y, —10Q Yy=0 59(;,
Name Bereich X, ¥, [

573775 7025 4125 Sr a0 o208k o 03
498775906 95.35 418 0.4765 0.5014 576 468
498 573 20.55 54.29 4.13 0.2602 0.6873 540 540c
380_573 30.68 58.94 64.64 0.1999 03815 493 600
380_498 10,52 484 60.63 0.1384 0.0637 468 576
573_498 8057 45.9 60.68 04305 0.2452 540c540
380_775 100.9800.0 64.68 03799 0.3764 100%
38077501 01 006 03798 03763 0%
380_77518.16 180 1164 03799 0.3764 18%
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